o U sl




X° -4

f(x)=
(%) -
X | 19 |19 [1.999 | | 2 | 2001 | 201 | 21
f(X)| 39 |39 |3999 | 4 2001 | 401 | 41
X 2 2
f(x) 4

lim f(x) = 4

T Al Mo M1l



2 y“ Yy=X+2,X#%2
EX - f(x) =X 2
X—2
_(X=2)(x+2)
- X—2 X
=X+2,X#2 2 2 X

T Al Mo M1l




X=a X
X% a f(X) LOR
X=a L f(X) x=a

lim f (x) = L

X—-a

T Al T M1l

(%)

f (%)




T @

1%

»
>

a

limf(x)=L=f(a),

v

lim f () =L # f(a),

=b  limf(x),

i

T Al T M1l

v

lim f (x) = L,

f(a)




imX "4 = im (X +2(x-2)

X-2 X—=2  x-2 X—2

= lim(x +2)

X2

Th Al T o



